
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

Complete Spare Parts List of  

Martin 2510 Controller 

 

90716000 2510  Controller , 512 DMX ch 220-240V 

02000403 AT89C55WD-24PC, 20K Flash, DIP 

02035501 29C010  128K x 8 Flash PROM, TSOP 

02050102 74 HCT 14 HEX inverting Schmitt Trig,SMD 

02050117 74 HCT 573  OCTAL LATCH ,SMD 

02050118 74 HCT 574  OCTAL LATCH ,SMD 

02100202 LM 358 Dual opamp, SMD 

02105001 7805  5V VOLTAGE STAB. 

02121705 75C176 BiCMOS RS485 Transceiver 

02300401 BC 847B , SMD 

02301201 BC 857B , SMD     (BC557) 

04040252 2200uF, 25V, electrolytic, radial 

04050160 100nF, 50V, ceramic, SMD 

04050168 470nF, 50V, ceramic, SMD 

04050217 27pF, 63V, ceramic, SMD 

04082116 2.2uF, 16V, tantalium, SMD 

04150000 0 Ohm Resistor 

04150308 120 Ohm Resistor 

04170332 220 Ohm resistor, SMD 

04170348 330 Ohm resistor, SMD, 1206 

04170400 1K Ohm resistor, SMD, 1206 

04170432 2K2 Ohm resistor, SMD, 1206 

04170448 3K3 Ohm resistor, SMD, 1206 

04170464 4K7 OHM RESISTOR, SMD 

04170500 10K OHM RESISTOR, SMD 

04170532 22K OHM RESISTOR, SMD 

04170588 82K OHM RESISTOR, SMD 

04170616 150K OHM RESISTOR, SMD 

04170664 470K OHM RESISTOR, SMD 

04170700 1M0 OHM RESISTOR, SMD 

04190303 100 Ohm 2 Watt Resistor 

04301001 BAS32L-115 (1N4148) , SMD 

04302001 Bridge rectifier 1.5A/600V 

04305004 6V8 0.5W ZEENER DIODE, SMD 

04305010 12V 0.5W ZEENER DIODE, SMD 

04312003 LED 7 segment, 14mm 

04350018 X-tal 24MHz 

04500007 Transf. 2x115V/12V 2.7VA PCB 

05120013 Socket-IC 40 pin  tulip 

05123002 XLR female 3-pin chassis, PCB 



05123413 Multiplug 9 Pole DSUB9 Female PCB 

05144401 Plug 10 pole  PCB dual in line 

05144501 Plug 10 pole angle  PCB dual inline 

05149001 Spade plug 6.3mm male , PCB 

05323411 Multiplug 9 pole cable female DSUB 

05324501 Multiplug 10 pole flatcable 

05343201 XLR male 3-pin cable type, black, metal 

05343411 Multiplug 9 pole cable male DSUB 

05501202 Tact Switch SMD   h = 7.0mm 

05523004 Mains switch, single, 10A (4A) 

05550003 Knob for Tact switch, black, SMD 

05830001 Electret condensor Microphone 

08050702 M3x6 screw, Torx, ph, black 

08050802 M3x6 screw, Torx, cs, black 

08052601 M3 hex nut, black 

08053807 M3x10 stand off, m/f, black 

08053808 M3x10 stand off, m/f, PA 

08054401 M3 lock washer, black 

08070402 M4x10 screw, Phillips 

08070701 M4x10 taptite, Torx, ph, black, Paint cut 

08072601 M4 hex nut, black 

08073601 M4 blind rivet nut, cs 

08074401 M4 lock washer, black 

08190203 3.5x8 self-tap, Phillips, ph, black 

08200102 2.9x6.5 Plastite, ph, black 

11041039 Wire, brown, 1x0.75#, 10cm 

11501016 Mains cable, black, 3x0.75#, 150cm, (universal) 

11750004 Wireset 10 pole flatcable 120mm 

11820008 XLR cable 5m black 3P male-3P female 

11840024 Null modem cable, D9-D9, m/f 

13101001 Cabel clamp f. 1.6mm plate 

13104000 Strap, black , high temp, 2.5x98mm 

15460001 1x0.7mm jumper wire 

15470002 Ribbon Cable 10 core 

15500007 6x0.25# grey,green,brown,white, yell,pink 

18600030 Red filter plate 2 x 7 segmentL ED,2mm pl 

26640190 Plate for XLR, 2510 Contrl., printed 

26640210 Frontplate, 2510 contrl., printed 

26640530 Topplate for 2504/2510 Contrl., printed 

26640750 Chassis for 2504/2510 Contr., aftertreated 

33300500 Felt pad   Ø 7.5mm x 0.7 

34000002 Cardboard box, 2504/2510/2532 ctrl. 

34206002 Polystyrene packing 

34240006 PLAST BAG,600x850mm,Spandepose 

35000004 User manual, 2510 Controller 

62010007 *PCB Mainboard, 2510 Controller, w CPU 

62011500 PCB 2510  Ctrl, PSU wired 230V 



62122043 CPU 89C55 Programmed for 2510 Ver. 2.0 

62400154 Knob with feltpad 

62420005 M3x10 Spacer male/female,cs 

91613017 Termination Plug XLR , male , 120 Ohm 

 

 

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 


